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Eventing FAQ on application of Rule 549.2

Run out - missing a flag
A Horse is considered to have run out if, having been presented at an element or obstacle
on the course, it avoids it in such a way that either the head, neck or either shoulder of the
Horse fail to pass between the extremities of the element or obstacle as flagged.
In case the Horse has clearly attempted to jump the element or obstacle and may have
missed a flag, the athlete can choose:

a) To represent (accepting automatically 20 penalties), or

b) To continue on course incurring 50 penalties (no elimination) in case the

element or obstacle was not correctly cleared.

O6HoC ¢ nponyckom dnaxka

Jlowaagb cunTaeTcs COBEpPLUMBLLEN TakoW OOHOC, ecrnu, 3aXoAasi Ha NpensaTCTBUE WU DM1EMEHT
(npenaTcTBus) Ha MapuwpyTe, oHa mlberaer ero Takmm obpasom, yto nmbo ronoea, Les,
nmbo noboe u3 nney nowannm He NpPoxoAsaT MexAay KpassMu NpenaTcTBUSA WM dMEMEHTA,
0603Ha4YeHHbIMU haxKKaMu.

B cnyuyae, ecnn nowaab $BHO nMblTanacb MpPbIFHYTb 37eMeHT WAWM NpensTcTBue 3a
0603HavYeHHOM (aXXKOM rpaHuuen NpensaTCcTBUsS, CMOPTCMEH MOXeT BblbpaThb:

a) MpbIrHYyTb NOBTOPHO (aBTOMATMYeCcKM nosiydaeT 20 wTpadHbIX 0O4KOB), UJIN

6) NPOAO/KUTL ABUXEHME NO MapLWpyTy, Nony4mns 50 wTpadHbIX 04KoB (6e3 uCKkarYeHns
U3 COpeBHOBaHMA) B Cly4ae, eCNM 3IEMEHT UM NPENATCTBMUE HE BblSTN NPEOAOSIEHbI YACTO.

Note: "A Horse will be considered to have cleared the fence when head, neck and both
shoulders of the Horse pass between the extremities of the element or obstacles as
flagged"

MpumeuaHue: " llowaab cyMTaeTcs NPEOAONEBLLEV NPENATCTBME YACTO, KOraa ee ronoea,
Wwes n oba nneya MNpoLnM Mexay rpaHuuaMy anemMeHTa Unu npensitTcTBUs, Kak OHO
0603Ha4YeHo naxkamu.




YacTo 3agaBaemMble BOMPOCHI

OTtBeT KomuteTa no FEI no Tpoe6opbto

Q: How many penalties are issued to a
combination who missed the flag at first
attempt, chooses to retake, miss the  flag
again and decides to continue?

A: First attempt = 20 penalties Second
attempt misses but continues = 50 Total = 70

B: CKonbKo LUTP. OYKOB MOMY4YMT napa
BCagHuK/nowaab, kotopasi nponycTuna
naxok npu nepBoy NonbiTke, pelumna
NOBTOPUTb, CHOBA NpornycTunia naxok 1
pelumna npoaomkaTb?

O: MepBasd nonbiTka = 20 WITP. OYKOB,
BTOpas nonbiTka (Nponyck, HO nNpogorkaeT)
=50 WwTp. o4KkoB. NToro = 70 WTP. OYKOB.

Q: How many penalties should be awarded
when a competitor misses a flag and then
chooses to retake the option twice but
misses again on the 3rd attempt and
then chooses to continue?

A: The situation described would incur 110
penalties. No elimination as missing a flag
and deciding to continue does not count as a
runout. This is true also if happening at
different fences on course. As an example,
one runout at fence 3, one at fence 10 and
missing a flag without representing at fence
15 would incur 90 penalties and not an
elimination.

B: CKonbKo LWTP. 04KOB ByAeT HauncreHo,
€CIN Y4aCTHUK NPonycTun conaxok, 3atem
ABaXkabl NonbITancs NOBTOPUTb, HO CHOBA
nponycTun dria)kok Ha TPeTbeln MomnbITKE U
3aTem peLunn npoaosrmkaTb?

O: B  onmcaHHOM
HauyucneHo 110

cutyaumm  Gypet
WTP.  OYKOB. 3a
NPONYyLLEHHbIN donakok napa He
UCKNIOYaeTCss W pelleHne npoaonkaTtb
OBUMXeHMe He cumTaeTcs 3a obHoc. 3To
OTHOCUTCA TakKke K Cry4asM Ha pasHbiX
npenaTcTeusx. Kak npumep, ognH nponyck
dnaxka Ha npenaTtcTBUM 3, OOUH - Ha
npenatcteum 10 M nponyck dpnaxka Ha
npenatcteun 15 6e3 NOBTOPHOM MOMbITKM
noeneyet 3a cobon HauncneHne 90 wWTp.
OYKOB, HO HE UCKITIOYEHME.




